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int main()

1

int n = 1;
while (n <= 10)

1

cout << n << "\n";
n++

return @;
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int 1s even = @, 1s odd = @,
for (int 1 = 1; 1 <= n; 1++)

{
if (1i%2==0)
f
L
15 _even++;
h
else
f
L
1s_odd++;
¥
]

cout <<"even 1s "<<1s_even<<" odd 1s "<<1s_odd<<"\n";

10;
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cin>>n;

long long fact =1;

for (Int 1 = 131 <-Nn;
1

fact =fact*1;

return 0;
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int n;

cin>>n;

long long tact =1;

for (1nt 1 = 1; 1 <=n; 1++)
{

fact =fact*i1i;

retiurn A+
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int n;
cin >> n;
for (Int 1 = 1; 1 <= n;} 1++)

i

for (int § = 1; j <=1 ; j++)
d

cout << '#";

¥

cout <<"\n";
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int N;
cin »> N;

double even sum = @, odd sum = @;
int even count = @, odd count = 0;

int ent = 1:
while (cnt <= N)
{
double value;
cin »> value;

if (cnt % 2 == @)

even_sum += value, even count++;
else

odd sum += value, odd count++;

cnt++;
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while (stars count <= N - row)

r
L

L |

cout <« =

++stars count;

}

stars count = 1;

while (stars count <= 2 * row - 1)

I
L

EQUE ST =
++stars count;

¥

cout << "\n";
--row;
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int main()
{
int N;
cin >> N;
int res = 09;
int count = @;
while (count <= N)

i

if (count % 8 == 0@ || count % 3 == @ && count % 4 == @)

1

i in -
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20
21

cout << count<<
count++;

return 0;
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int main()

{

int N;
cout << "Value of N = \n";
cin »> N;

int pos = 0;

while (pos < N) ‘
{
string str;
cin »» stry
if (str "no" || str
str "on" || str

cout << str << ~

lI‘NDl'I
II‘DNII

pPOS++;

}
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|| str
|| str
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int N;

cin >> N;

int number

while (N > @)

{

9;

int last digits = N % 10;
N =N / 10;

number

number * 10 + last digits;
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int main()

1

int nums[4];

for (1nt 1 =0; 1 < 4; 1++)

{
cin >> nums|1];
}
for (int 1 =3; 9 < 4 i13)
i
cout << nums|[@] + nums[1] + nums|[2]| + nums|3];
}
return 0;
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mn(e| = ﬁnfi];

mn[1| = tmp;

for (int 1 =0; 1 < 3; 1++)
cout << mn|1] << © 7}

return 0;
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int main()

{

int n;

cin >> n;

const int MAX = 270 + 500 + 1;
int frequency[MAX] = {0};

for (int 1 =0; 1 < n; i++)

{
int value;
cin >»> value:
value += 500;
frequency|value |++;
}

int mx_pos
for (int 1

9;
1; 1 < MAX; 1++)

if (frequency[mx_pos] < frequency[1])
mx_pos = 1;
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using namespace std;
int main()

{

string namel;
cin>>namel;

int N = namel.length();
cout<<N<<"\n";

return o;
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